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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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Ag-108 ( 3 )  Set-A 

1. vke esa O;kolkf;d :i ls izo/kZu fd;k tkrk 

gS % 

 
1. Commercial method of propagation in 

Mango : 

(A) xwVh  (A) Air layering 

(B) fczt xzkÇ¶Vx  (B)  Bridge grafting 

(C) cht  (C)  Seed 

(D) fofu;j xzkÇ¶Vx  (D)  Veneer grafting 

2. vf/kdre fd’kksjkoLFkk vof/k okyk 
------------------

 Qy 

o`{k gSA 

 
2. Maximum juvenile period occurs in 

............... fruit plant. 

(A) ve:n  (A) Guava 

(B) beyh  (B)  Tamarind 

(C) vk¡oyk  (C)  Aonla 

(D) egqvk  (D)  Mahua 

3. fuEufyf[kr Qyksa esa ls dkSu&lk foVkfeu C 

dk lzksr gS \ 

 
3. Choose the source of Vitamin ‘C’ from 

the following fruits : 

(A) csy  (A) Bael 

(B) vk¡oyk  (B)  Aonla 

(C) ve:n  (C)  Guava 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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4. m|ku foKku dh og ‘kk[kk tks ‘kkdksRiknu ls 

lEcfU/kr gS % 

 
4. Vegetable production comes under 

horticulture branch :  

(A) ikseksykWTkh  (A) Pomology 

(B) ¶yksjhdYpj  (B)  Floriculture 

(C) vksyjhdYpj  (C)  Olericulture 

(D) d`f‛k foKku  (D)  Agriculture 

5. ijkxd.k dk ,d LFkku ls nwljs LFkku ij 

tkuk dgykrk gS % 

 
5. Transfer of pollen from one place to other 

place is called : 

(A) ijkx.k  (A) Pollination 

(B) vlaxtuu  (B)  Apomixis 

(C) ikseksykWth  (C)  Pomology 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

6. cht ftlesa dsoy ,d Hkzw.k ik;k tkrk gS] 

dgykrk gS % 

 
6. The seed containing one embryo is  

called : 

(A) ,dHkzw.kh; cht  (A) Monoembryonic 

(B) cgqHkzw.kh; cht  (B)  Polyembryonic 

(C) uj iq‛i  (C)  Male flower 

(D) vkWfDtu  (D)  Auxin 
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7. yhph esa eq[;r% O;kikfjd izo/kZu fd;k tkrk  

gS % 

 
7. Litchi plants are commercially 

propagated by : 

(A) cht }kjk  (A) Seeds 

(B) cÇMx }kjk  (B)  Budding 

(C) xwVh }kjk  (C)  Air layering 

(D) fofu;j xzkÇ¶Vx }kjk  (D)  Veneer grafting 

8. foVkfeu ^,* dk vR;f/kd lzksr gS % 
 

8. The richest source of Vitamin ‘A’ : 

(A) lsc  (A) Apple 

(B) vke  (B)  Mango 

(C) dsyk  (C)  Banana 

(D) ve:n  (D)  Guava 

9. vke dh chtjfgr fdLe gS % 
 

9. Seedless variety of Mango is : 

(A) vyQkUlks  (A) Alphonso 

(B) vkezikyh  (B)  Amrapali 

(C) efYydk  (C)  Mallika 

(D) fla/kq  (D)  Sindhu 

10. okuLifrd :i ls 
--------------------------

 vuUukl Qy gSA 
 

10. Botanically pineapple fruit is ............ . 

(A) lksjksfll  (A) Sorosis 

(B) ckyqLVk  (B)  Balusta 

(C) csjh  (C)  Berry 

(D) ikse  (D)  Pome 
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11. dsUnzh; ‘khrks‛.k ckxokuh laLFkku fLFkr  

gS % 

 
11. Central Institute for Temperate 

Horticulture is located at : 

(A) fnYyh esa  (A) Delhi 

(B) Jhuxj esa  (B)  Srinagar 

(C) okjk.klh esa  (C)  Varanasi 

(D) uks;Mk esa  (D)  Noida 

12. iwlk uUgk fdLe gS % 
 

12. Pusa Nanha is a variety of : 

(A) lsc dh  (A) Apple 

(B) vke dh  (B)  Mango 

(C) ve:n dh  (C)  Guava 

(D) iihrk dh  (D)  Papaya 

13. ^gkWVhZdYpj* ‘kCn dh mRifŸk gqbZ gS % 
 

13. Word ‘Horticulture’ has been derived 

from : 

(A) teZu ls  (A) German 

(B) vaxzsth ls  (B)  English 

(C) ySfVu ls  (C)  Latin 

(D) Ýsap ls  (D)  French 

14. vk¡oyk dk tUeLFkku gS % 
 

14. Origin place of Aonla is : 

(A) Hkkjr  (A) India 

(B) ;w- ,l- ,-  (B)  U. S. A. 

(C) tkiku  (C)  Japan 

(D) phu  (D)  China 
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15. lsc ds xq.klw= dh la[;k gS % 
 

15. Chromosome number of Apple : 

(A) 20  (A) 20 

(B)  22  (B)  22 

(C)  80  (C)  80 

(D)  34  (D)  34 

16. dsys dk okuLifrd uke gS % 
 

16. Botanical name of Banana : 

(A) eqlk Lihlht  (A) Musa species 

(B) eSyl MksefLVdk  (B)  Malaus domestica 

(C) eSUthQsjk bafMdk  (C)  Magifera indica 

(D) flVªl  (D)  Citrus 

17. Hkkjrh; ckxokuh vuqla/kku laLFkku fLFkr gS % 
 

17. Indian Institute of Horticulture Research 

is located at : 

(A) vle esa  (A) Assam 

(B) csaxyq# esa  (B)  Bengaluru 

(C) y[kuÅ esa  (C)  Lucknow 

(D) tks/kiqj esa  (D)  Jodhpur 

18. dVgy dk tUeLFkku gS % 
 

18. Origin place of Jackfruit is : 

(A) Hkkjr  (A) India 

(B) phu  (B)  China 

(C) vesfjdk  (C)    America 

(D) vQxkfuLrku  (D)  Afghanistan 
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19. iihrk dk okuLifrd uke gS % 
 

19. Botanical name of Papaya is : 

(A) izqul ijfldk  (A) Prunus persica 

(B) yhph pkbusfUll  (B)  Litchi chinensis 

(C) dSfjdk iik;k  (C)  Carica papaya 

(D) flVªl  (D)  Citrus 

20. ckx yxkus dh ljy o vklku fof/k  

gS % 

 
20. Simplest and most convenient system of 

orchard layout : 

(A) dUVwj fof/k  (A) Contour system 

(B) gsDlkxksuy fof/k  (B)  Hexagonal system 

(C) f=Hkqtkdkj fof/k  (C)  Triangular system 

(D) oxkZdkj fof/k  (D)  Square system 

21. lsc ,d 
------------------

 Qy gSA 
 

21. Apple is a ............. fruit. 

(A) ‘khrks‛.k  (A) Temperate 

(B) lemiks‛.k  (B)  Subtropical 

(C) miks‛.k  (C)  Tropical 

(D) ‘kq‛d  (D)  Arid 

22. ^bykgkckn lQsnk* fdLe gS % 
 

22. ‘Allahabad Safeda’ is a variety of : 

(A) vke dh  (A) Mango 

(B) dVgy dh  (B)  Jackfruit 

(C) ve:n dh  (C)  Guava 

(D) lsc dh  (D)  Apple 
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23. fo’o esa Qy mRiknu esa Hkkjr dk LFkku gS % 
 

23. India’s place in fruit production in the 

world is : 

(A) izFke  (A) First 

(B) f}rh;  (B)  Second 

(C) r`rh;  (C)  Third 

(D) prqFkZ  (D)  Fourth 

24. n’kgjh esa ikS/k nwjh D;k gS \ 
 

24. Planting distance of Dashehari : 

(A) 10 × 10 eh-  (A) 10 × 10 m 

(B) 25 × 25 eh-  (B)  25 × 25 m 

(C) 40 × 40 eh-  (C)  40 × 40 m 

(D) 1 × 1 eh-  (D)  1 × 1 m 

25. Hkkjrh; d`f‛k vuqla/kku ifj‛kn~ dgk¡ fLFkr  

gS \ 

 
25. Indian Council of Agriculture Research is 

located at : 

(A) bVkok  (A) Etawah 

(B) y[kuÅ  (B)  Lucknow 

(C) ubZ fnYyh  (C)  New Delhi 

(D) dkuiqj  (D)  Kanpur 
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26. lsc fdl dqy dk gS \ 
 

26. Apple belongs to family : 

(A) ,ukdkfMZ,lh  (A) Anacardiaceae 

(B) eqlslh  (B)  Musaceae 

(C) ;wQksfcZ,lh  (C)  Euphorbiaceae 

(D) jkstslh  (D)  Rosaceae 

27. flapkbZ ty ds lkFk moZjdksa dks nsuk dgykrk 

gS % 

 
27. Use of fertilizers along with irrigation 

water is termed as : 

(A) ¶;wehxs’ku  (A) Fumigation 

(B) QVhZxs’ku  (B)  Fertigation 

(C) dSizhfQds’ku  (C)  Caprification 

(D) batsD’ku  (D)  Injection 

28. Qyksa dk jktk gS % 
 

28. King of fruits is : 

(A) vke  (A) Mango 

(B) ve:n  (B)  Guava 

(C) yhph  (C)  Litchi 

(D) lsc  (D)  Apple 

29. iihrs esa vf/kd ik;k tkrk gS % 
 

29. Papaya is rich in : 

(A) foVkfeu E  (A) Vitamin E 

(B) foVkfeu B  (B)  Vitamin B 

(C) foVkfeu A  (C)  Vitamin A 

(D) foVkfeu C  (D)  Vitamin C 
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30. vukj dk [kkus ;ksX; Hkkx gS % 
 

30. Edible part of pomegranate is : 

(A) ehtksdkiZ  (A) Mesocarp 

(B) FkSysel  (B)  Thalamus 

(C) ,UMksdkiZ  (C)  Endocarp 

(D) ,fjy  (D)  Aril 

31. vke esa l?ku Qly ckxokuh djus gsrq 

mi;qDr fdLe gS % 

 
31. Suitable variety of mango for high 

density orcharding is : 

(A) vkezikyh  (A) Amrapali 

(B) n’kgjh  (B)  Dashehari 

(C) efYydk  (C)  Mallika 

(D) vYkQkalks  (D)  Alphonso 

32. vksywj cgqHkwz.kh; fdLe fdl Qy dh gS \ 
 

32. Olour is a polyembryonic variety of 

which fruit ? 

(A) LVªkcsjh  (A) Strawberry 

(B) flVªl  (B)  Citrus 

(C) vke  (C)  Mango 

(D) ve:n  (D)  Guava 
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33. igkM+ksa esa ckx yxkus dh lcls mi;qDr fof/k  

gS % 

 
33. The best system of orchard layout in the 

hill : 

(A) vk;rkdkj fof/k  (A) Rectangular system 

(B) lh<+huqek fof/k  (B)  Contour system 

(C) oxkZdkj fof/k  (C)  Square system 

(D) ‚kV~dks.kh; fof/k  (D)  Hexagonal system 

34. igkM+h {ks= esa flapkbZ dh mi;qDr fof/k % 
 

34. Best method of irrigation in hilly region : 

(A) cw¡n flapkbZ  (A) Drip irrigation 

(B) csflu flapkbZ  (B)  Basin irrigation 

(C) ck<+ flapkbZ  (C)  Flood irrigation 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

35. vkezikyh ladj.k gS % 
 

35. Amrapali is a cross between : 

(A) n’kgjh × vYQkUlks  (A) Dashehari × Alphonso 

(B) jruk × vYQkUlks  (B)  Ratna × Alphonso 

(C) uhye × n’kgjh  (C)  Neelam × Dashehari 

(D) n’kgjh × uhye  (D)  Dashehari × Neelam 

36. izkd`frd jcj fdl m|ksx esa lcls vf/kd 

iz;ksx gksrk gS \ 

 
36. Natural rubber is mostly used in which of 

the following industries ? 

(A) Vk;j  (A) Tyre 

(B) ckWDl  (B)  Box 

(C) ‘khV  (C)  Sheet 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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37. lsc dk vR;f/kd mRiknd jkT; % 
 

37. Leading producer of Apple : 

(A) fcgkj  (A) Bihar 

(B) fnYyh  (B)  Delhi 

(C) mŸkj izns’k  (C)  Uttar Pradesh 

(D) fgekpy izns’k   (D)  Himachal Pradesh 

38. iihrs dk O;kolkf;d izo/kZu gksrk gS % 
 

38. Commercial propagation method of 

Papaya : 

(A) cÇMx }kjk  (A) Budding 

(B) cht }kjk  (B)  Seed 

(C) ys;Çjx }kjk  (C)  Layering 

(D) dfVax }kjk  (D)  Cutting 

39. ckx ds fy, mi;qDr ih&,p- eku % 
 

39. Optimum soil pH for orchard : 

(A) 4.5—6.5  (A) 4.5—6.5 

(B)  3.5—4.5  (B)  3.5—4.5 

(C)  6.5—7.5  (C)  6.5—7.5 

(D)  7.5—8.5  (D)  7.5—8.5 

40. fdl Qy esa izksVhu dh ek=k vf/kd gksrh  

gS \ 

 
40. Which fruit has maximum protein  

content ? 

(A) dktw  (A) Cashewnut 

(B) lsc  (B)  Apple 

(C) vke  (C)  Mango 

(D) iihrk  (D)  Papaya 
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41. fuEufyf[kr esa ls dkSu&lk ikse Qy gS \ 
 

41. Which fruit is a Pome ? 

(A) vodkMks  (A) Avocado 

(B) vke  (B)  Mango 

(C) vaxwj  (C)  Grape 

(D) lsc  (D)  Apple 

42. fuEufyf[kr esa ,dchti=h gS % 
 

42. Which one is monocot ? 

(A) dVgy  (A) Jackfruit 

(B) [ktwj  (B)  Date palm 

(C) lsc  (C)  Apple 

(D) vke  (D)  Mango 

43. vf/kd Qy ikS/ks fdl fof/k esa yxrs gSa \ 
 

43. The maximum number of plants can be 

planted in : 

(A) oxkZdkj fof/k  (A) Square system 

(B) lh<+huqek fof/k  (B)  Contour system 

(C) ‚kV~dks.kh; fof/k  (C)  Hexagonal system 

(D) vk;rkdkj fof/k  (D)  Rectangular system 

44. chtjfgr Qy dkSu&lk gS \ 
 

44. Which is a seedless fruit ? 

(A) vuUUkkl  (A) Pineapple 

(B) vke  (B)  Mango 

(C) ve:n  (C)  Guava 

(D) tkequ  (D)  Jamun 
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45. okuLifrd :i ls gsLisfjfM;e Qy gS % 
 

45. Hesperidium is botanical form of fruit in : 

(A) ukfj;y  (A) Coconut 

(B) lsc  (B)  Apple 

(C) vke  (C)  Mango 

(D) flVªl  (D)  Citrus 

46. vke esa xq.klw= dh la[;k gS % 
 

46. Chromosome number of Mango is : 

(A) 32  (A) 32 

(B)  40  (B)  40 

(C)  48  (C)  48 

(D)  50  (D)  50 

47. mŸkj izns’k esa vke dh izfl) fdLe gS % 
 

47. Popular variety of Mango in Uttar 

Pradesh is : 

(A) n’kgjh  (A) Dashehari 

(B) vYQkUlks  (B)  Alphonso 

(C) vkezikyh  (C)  Amrapali 

(D) xksok  (D)  Goa 

48. ekYkQkWesZ’ku jksx ik;k tkrk gS % 
 

48. Malformation is a disease found in : 

(A) lsc esa  (A) Apple 

(B) yhph esa  (B)  Litchi 

(C) ve:n esa  (C)  Guava 

(D) vke esa  (D)  Mango 
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49. m|ku foKku dh og ‘kk[kk tks QyksRiknu ls 

lEcfU/kr gS % 

 
49. Fruit production comes under horticulture 

branch : 

(A) flYohdYpj  (A) Silviculture 

(B) ¶yksjhdYpj  (B)  Floriculture 

(C) ikseksykWth  (C)  Pomology 

(D) vksyjhdYpj  (D)  Olericulture 

50. ‘kq‛d tyok;q ds fy, mi;qDr Qy gS % 
 

50. Fruit suitable for arid climate is : 

(A) csj  (A) Ber 

(B) iihrk  (B)  Papaya 

(C) lsc  (C)  Apple 

(D) LVªkcsjh  (D)  Strawberry 

51. pk; mRiknd jkT; gS % 
 

51. Tea producing state is : 

(A) vle ¼nkftZfyax½  (A) Assam (Darjeeling) 

(B) mŸkj izns’k  (B)  Uttar Pradesh 

(C) jktLFkku  (C)  Rajasthan 

(D) fcgkj  (D)  Bihar 
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52. Hkkjr esa lcls vf/kd ve:n mRiknd jkT;  

gS % 

 
52. Largest guava producing state in  

India is : 

(A) fgekpy izns’k  (A) Himachal Pradesh 

(B) dukZVd  (B)  Karnataka 

(C) xqtjkr  (C)  Gujarat 

(D) mŸkj izns’k  (D)  Uttar Pradesh 

53. Hkkjr esa ds’kj mxk;k tkrk gS dsoy %  
 

53. In India Saffron is cultivated only in : 

(A) iatkc esa  (A) Punjab 

(B) d’ehj esa  (B)  Kashmir 

(C) xqtjkr eas  (C)  Gujarat 

(D) mŸkj izns’k eas  (D)  Uttar Pradesh 

54. bafM;u xwtcsjh fdldk uke gS \ 
 

54. Indian Gooseberry is common name of : 

(A) dVgy  (A) Jackfruit 

(B) iihrk  (B)  Papaya 

(C) vke  (C)  Mango 

(D) vk¡oyk  (D)  Aonla 
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55. fuEufyf[kr esa ls dkSu ,d ck;ksVsDuksykWth  

gS \ 

 
55. Which one of the following is the 

Biotechnology ? 

(A) dfVax  (A) Cutting 

(B) xwVh  (B)  Air layering 

(C) fV’kw dYpj  (C)  Tissue culture 

(D) fczt xzkÇ¶Vx  (D)  Bridge grafting 

56. dsyk dk izo/kZu fdl fof/k ls gksrk gS \ 
 

56. Propagation method of Banana :  

(A) cht  (A) Seed 

(B) ldj  (B)  Suckers 

(C) dfVax  (C)  Cutting 

(D) ys;Çjx  (D)  Layering 

57. fofu;j xzkÇ¶Vx iz;ksx gksrk gS % 
 

57. Veneer grafting is commercially 

practiced in : 

(A) vke esa  (A) Mango 

(B) vk¡oyk esa  (B)  Aonla 

(C) vkyw esa  (C)  Potato 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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58. vkbZ- lh- ,- vkj- ds izFke Mk;jsDVj tujy  

gSa % 

 
58. First Director General (D. G.) of ICAR  

is : 

(A) MkW- vkj- ,l- ijksn  (A) Dr. R. S. Paroda 

(B) MkW- f=ykspu egkik=k  (B)  Dr. Trilochan Mohapatra 

(C) [kku cgknqj lj  (C)  Khan Bahadur Sir 

(D) MkW- ch- ih- iky  (D)  Dr. B. P. Pal 

59. ukckMZ dk eq[;ky; fLFkr gS % 
 

59. NABARD headquarters is located at : 

(A) y[kuÅ esa  (A) Lucknow 

(B) dkuiqj esa  (B)  Kanpur 

(C) eqEcbZ esa  (C)  Mumbai 

(D) fnYyh esa  (D)  Delhi 

60. ,ihMk dk eq[;ky; fLFkr gS % 
 

60. Headquarters of APEDA is situated in : 

(A) bVkok esa  (A) Etawah 

(B) ubZ fnYyh esa  (B)  New Delhi 

(C) dkuiqj esa  (C)  Kanpur 

(D) csaxyq# esa  (D)  Bengaluru 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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